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U THIHaL | corporate office : Tulsi Niketan Sec-04 Udaipur (Raj.) M. 6376491126



High Court LDC Answer Key Dated : 12.03.2023

32.

33.

34.

35.

36.

37.

38.

39.

40.

41.

42,

43.

44.

45.

46.

47.
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(A) Hgicad (B) HEwfY

(C) 3r=wur (D) T [A]
' Uy @ RAffa e adi @ -

(A) 2ffae (B) daat

(C) g (D) reTet [D]
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fore fRrenea & T eTee g 62

(A) Tifen, earaen (B) gdtTTg, wa

(C) siqufH, drera= (D) Riged, wafis [B]
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(A) BAHT - Y=Y (B) fah - g

(C) Y - faerg (D) TTgg - ST [C]
(A) o= + srgAfa (B) faqg + srgAfa

(C) R + argAfa (D) fia: + ergAfa [B]
arergier & fog ardfes g At & -

(A) gd &1 & -

(B) &% usg fe1 & g1 arer utféies

(C) et <hl Z=eT 3@ dTell JH8]

(D) Etem &= arer e [D]
&) 1 gafaeEr=h T 8-

(A) arFet B) d%ert

(C) gtaferent (D) pwom [C]
Choose the correct passive form of the
sentence.

The President gave him a reward.

(A) He was too be given a reward by the
President.

(B) He was given a reward by the President.

(C) He shall have be given a reward by the
President.

(D) He must be given a reward. [B]
Change the following Sentence into direct
speech:

He exclaimed that it was a dreadful idea.

(A) He said, "it'is dreadful idea."

(B) He said, "this is a dreadful idea."

(C) He said, "what a dreadful idea!"

(DyHe said, "what a dreadful idea it'is." [C]
Fill in the blank with suitable determiner.

All I needed was ............... two and a half
metre' piece of red flannel to complete the
design.”.

(A) the (B) those

(C) Both (A) & (B) (D) a [A]
The sentence has been broken up into four
parts.

Choose the part-which is grammatically and

"meaningfully wrong.

1 “(A) The title of the book

55.

56.

57.

58.

(B) convey that life's joys

(C) and sorrows can often

(D) co-exist at the same time. [B]
Choose the correct option for the underlined.
May I accompany with you to the airport?

(A) accompany you (B) No improvement

(C) accompany you with(D) accompany [A]
Choose the prefix that meaningfully
completes the sentence:

Surprisingly, much of my assignment
remained...... finished by the end of the week.

(A)dis____ (B)ymis_____

(Qun____ (D)de_____ [C]

Select the right prefix for the word "fortune":

(A) un (B) dis

(C) mis (D) in [C]

Antonym of the word "Transparent" is:

(A) Clear (B) Opaque

(C) Translucent (D) Obvious [B]
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69.

The sentence has been broken up into four

parts. Choose the part which is grammatically

and meaningfully wrong.

(A) In the modern,

(B) increasing commercial city,

(C) many of the old ways

(D) are gradually being discarded. [A]

Change into Interrogative:

It is no good to help a mean man.

(A) It is good to help a mean?

(B) Is it not good to help the good?

(C) Is it not bad to not help the mean?

(D) Is it any good to help a mean man? [D]

Fill in the blanks with the correct option.
members have already sent their

subscription.

(A) Some (B) Any

(C) Little (D) Whole [A]

Fill in the blank with the correct form of verb.

We....cooeveeeene there for ten years.

(A) will have been lived (B) live

(C) living (D) lived [D]

Choose the word with incorrect

prefix able.

(A) Lovable

(C) Honorable

Choose the correct optlon of the italicized

(B) Moveable

word. ) i
Who was it writteh by" SET &
(A) What (B) Whom

(C) Whose! (D) Which [B]
The Antonym of the word "Industrious" is:

(A) Indolent (B) Happy

(C) Slavery (D), Impbllte [A]

Change the following negative seéntence into
an affirmative one:

I am not as intelligent-as:yous:

(A) No one is more intelligent.than you

(B) You are more mtelllgent than L.

(C) Both (A) & (B) .

(D) None of the above . Bl
Pick the correct option to fill in the blank
space. He doesn't behave well. .......... he hopes

to get votes.

(A) In the meantime  (B) Nevertheless

(C) As a result (D) Else [B]
Pick the correct option to fill in the blank:
They have too.............. technicians, we have
too few.

(A) little (B) much

(C) many (D) few [C]

Choose the word which means the following:
The cessation of warfare before a treaty is

signed.
(A) Amnesty (B) Amiablity
(C) Agreement (D) Armistice [D]

(D) Victoryable [D]

70.

71.
72.
73.

74.

75,

76.

77.

78.

79.

Choose the option that best explains the
underlined idioms/phrase:

Have a midas touch means:

(A) Ability to succeed in everything

(B) To be a good middleman

(C) Act patiently

(D) Accept defeat gracefully [A]
Which of the following word means:

A way of speaking or writing that makes
someone sound bigger, better than they are.
(A) Hyperbole (B) Understatement

(C) Belittlement (D) Meiosis [A]
Fill in the correct tense choosing from the
options given below:

Loeeenees (write) a letter this morning.

(A) write (B) will be writing

(C) have written (D) wrote [C]
Choose the word which means the following:
A speech delivered without any previous
preparation.

(A) Diplomacy (B) Cynic

(C) Extempore (D) Versatile [C]
Choose the optionTthat=best explains the
underlined idioms/phrase:

The pandemic has made everyone suspect

~that they are a bit under the'weather at all

times.

(A) Out of work "

(B)Distressed and depressed

(C) Feeling sick or unhealthy

(D) Open to infection [C]
Eill in| the blank by choosing; the| correct
option: -

There was a regular................ between the
merchants and.the labourers,
(A) fight : (B) battle
(C) war (D) None of the above [B]

Choose the antonym of the word "eulogistic"

| =from the given options:
“(Ay Admiring

(B) Critical

(C) Appreciative (D) Friendly [B]
Choose the option that meaningfully
completes the sentence:

We had to pay the taxi more.......... because he
brought us by more route.

(A) circular (B) circumscribed

(C) circumvent (D) circuitous [D]
Fill in the blank with the correct option.
Spring ------- come again.

(A) will (B) has been

(C) have been (D)is [A]

Choose the suffix that meaningfully
completes the sentence:

Everyone was very excited and
eager......... waited for the result to be posted.
(A) ___fully B)___ly

(Q)__ ness (D) ment [B]
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80.

81.

82.

83.

84.

85.

86.

87.

88.

Fill in the blank with an appropriate article.

He gave us........... good breakfast.
(A)a (B) an
(C) the (D) No article required [A]

Choose the correct option to fill in the blank
space:

Temperature tomorrow.............. much the
same as today.
(A) will (B) remained

(C) will have been (D) will be [D]
Choose the correct Passive of the following
sentence from the given options.

I can see the force of your argument.

(A) The forced argument I could see.

(B) The argument was forced to be seen.

(C) The force of the argument on can see.

(D) The force of your argument can be seen. [D]
Choose the correct Indirect form of the
following Direct speech sentence:

"Listen to me!" said Mother.

(A) Mother told me listen.to her.

(B) Mother told me to listen:to her.

(C) Mother asked me to/isten.

(D) Mother asked to me to listened. [B]
Choose the word which means the following:

A thing that is fit to be eaten: . ; e
(A) Edible (B) Explicit

(C) Popular (D) Frugal [A]
Pick the correct option to fill in the blank:
Cattle.......... driven all over the fields.

(A) is (B) are |
(C) was (D) has been: [B]

Choose the [correct Indirect form, of the
following Direct'speechsentence; s

"Could you call'me backiater?" .

(A) He asked if you could call to me later.

(B) He asked to later make a call on him.

(C) He asked me to call him back later.

(D) He pleased me to call him later. [C]
Change the following sentence into passive:
Give the order.

(A) Let the order out.

(B) Let you give the order.

(C) Let the order be given.

(D) The order was to be given. [C]
Choose the correct affirmative sentence.

She is not guilty.

(A) She is innocent.

(B) She is guilty.

(C) She can be not guilty.

(D) Innocent is she we know. [A]

89.

90.

91.
92.

93.

94.
95.

96.

97.

Pick the correct option which transforms the
following interrogative sentence to assertive:

Can you touch the sky?

(A) No one can touch the sky.

(B) The sky cannot be touched.

(C) You cannot touch the sky.

(D) None of the above. [C]

Change the following sentence into indirect
speech:

Tom said, "I woke up feeling ill, so I didn't go
to work."

(A) Tom said that he woke up feeling ill and so he
did not go to work.

(B) Tom said that he had woken up feeling ill, so
he hadn't gone to work.

(C) Tom said that he had woken up feeling ill, so
he did not go to work.

(D) Tom said that he woke up feeling ill, so he

didn't go to work. [B]
Choose the antonym of the following word:
Deplorable
(A) Inflallible (B) Admirable

_(C) Explorable (D) Unbearable [B]
Choose the correct antonym of the word:
“Frequent"
(A) Refuse (B) Regular
(C) Follow (D) Occasional [D]

Choose the option that is al one word
substitution for the given phrase;

A nation.or person engaged in war or conflict,
as recognized by international law.
(A)Crusade (BY Anarchy
(C)'Belligerent (D) Sacrilege [C]
Pick the correct'option to fill the blank space.

I =1 couldn't sleep------------ very tired.
“(Ayalthough I was

(B) in spite of being

(C) despite of being (D) Both (A) & (B) [A]
Which of the following word does not have
'ful’ as a suffix?

(A) Harm (B) Hate

(C) Hand (D) High [D]
Choose the correct meaning of the Italicised
Idiom:

The news of Rehan's death spread like wild
fire.

(A) Spread rapidly (B) Lateful

(C) In favour with (D) To get into trouble [A]
Fill in the blank choosing the correct tense
form from the given options.

If he.......... what are we to do?

(A) camed (B) comes

(C) had come (D) was to come [B]
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98.

99.

100.

101.

102.

103.

104.

105.

106.

Choose the correct Active transformation of
the given Passive:

If the food had not been overcooked there
would not have been any complaint.

(A) I would not have complained if the food had
not been overcooked.

(B) I would not have complained if the food was
not overcooked.

(C) There would be no complaint for overcooking
the food.

(D) The complaint was about overcooked food if
done by me. [A]
Choose the correct Indirect form of the
sentence.

She said, "I have written a story."

(A) She said (that) she had written a story.

(B) She told of writing a story.

(C) A story written by her.

(D) She informed us of writing a.story. [A]
Give the correct meaning of the underlined
Idiom. It was he who pit a spoke in my wheel
in the execution of my design.

(A) Blessed me (B) Helped me

(C) Deeply appealed. (D) Thwarted me [D]
ToTea f&aw 26.01. zozsaﬁqéﬁwﬁﬁgqmzas
=g ifafd &g &2

(A) Thi & ATSgafel oid HEHE Aas g

(B) feRferedt= o wscufd Hewg e

(C) i & seufay teded thalg Siel-Hist

(D) &feror sifthent & seufa fRRer IR [C]
FR AR & A h G F FIET HYH Held &2
(A) TG StehT TUT AERT STIE oh Hed THSA oh ShIRUT TSR Al
I SR T 8l

(B) Gﬁmﬁsﬂﬁwaﬁﬁmwaﬁé\ﬂﬁmmﬁﬁ
PHRUT SHHT A ShlHR UsIl.
(C)aﬂzﬁﬁﬂﬂgﬁmﬁmm@rgﬁﬁwaw{m
9 SR TeT!
(D)Hgﬂi%ﬂﬂagaﬂﬁav—sﬁaﬁé?ﬂmaﬁéﬁmﬁm

g pRuT dteprMR A1 U= [A]
STRYM I AR & UUH q&d —grarefier o= 42
(A) A hl=d aHf (B) |TfoYaT oATet At

(C) h.GH. arVg (D) TR U9 [A]
a¥ 2022 # fFfafEa d @ fFad gRT gew yuor
3ETE A7 @ SR = fear mar?

(A) it gegaa wgrard gr1

(B) =marferufar off S1.¢9. adf & uRaR grr

C) st gaea g Sear gra

(D) g&ft psum Hierelt gRT [A]
faea =1 9@ g1 fohdhe wHfeaw fhg g d @2

(A) TYeTeRTar (SIS

(C) SrgHarErE (D) Herall= [C]
=1 4 @ forw e gearera w fSen & @ =g
T JEITT gl 87

(A) TdTaiTe (B) ITs®R

(C) SuqR (DEISIEIS [B]

107.

108.
109.
110.

111.

112.

113.
114.

115.

| 116.

117.

derg famma g@is e areft uuw wiRda afgen
UTIee i 82

(A) Srat =T B) Sret Igadr

(C) GRAT ShRTA (D) fa=ét srrara [B]
3R et T el @ Repreht 71E &2

(A) YRGST AT STe (B) T SRTST

(C) 8Reh St (D) STaTER 9FR S1er [C]

ey Tent-27 R e | gia 81 [eran 8?

(A) R (B) T

(C) RcdteTe (D) Treft [D]
A= 7 @ e S gaet=e & 9w | Rega g2

(A) HETTG (B) E¥TE

(C) Fsui e (D) SgTTe [B]
TMRT-ATE 1 Tra=Y fohaa AT?

(A) I+ BT - 39+ R

(B) WERIOM g

(C) HeRTST STaad &g gifaa

(D) HERTOT GFT
wﬂ:ﬁmmwuﬁwﬁ@aﬁﬂﬁmqﬁﬁé’
(A) 18T (B) ST

(C) =Tt (D) <poft [A]
HIwT (FIFA) ae3-ehd &R 2022 T WIS A9 fRa
&t 221 &t &1 & Aeg gsman?

(A) T - STHAY (B) =iz - 3rsf=dT

(C) GeTTTeT - HRekent (D) 3TSI=EIHT = 3T [D]

T SR AT A& LT A A 9 o T W
giare?

(A) yaTRIS (SeTgTsTe)  (B) @ v

(O) 5=E (D) TR [A]
INTR ygdr fora 7 & R feaa &2

(A) TS Tt GERIEEM]

(C) PR T (D) ehidett It [C]
A 7 § &l G aeiedr, Sifdaerarn ofiR Sfaen gur
& e ot A2

(A) SR &a1g (B) Aope fgRt aret vmfa
(C)-=forerRT <ATet aHf (D) gt 3§ Aedr [B]

AT @ «1Q e il  MRd & o I ST
H ¥ mar 82
(A).T=T (Feg. Teer)

= [ (B) &1 Srsle et urdh (Icarravs)
(€)Y (A TRer)

118.

119.

120.

121.

(D) PR (7o) [C]
= 9 @ fohe g & F gurEs ug @ 9g g g
m%%mﬁwﬁm%&l%m@%ﬂqﬁ?
(A) SIRT ST (B) Sif¥reT TreaH

(C) Sifq=sT 3184 (D) 3R @ [C]
e TU qUT IHdh T T ST A I3~
(A) FEefie - SR

(B) 3R a1 foheT - STAQR

(C) S1ets f&T ot SifueT - TTeft

(D) SATTE AT fohedT - iR

mngzuﬁmﬁ?(naﬁ)aﬁg?ngﬁ?ﬁélﬂmiiﬁaﬁr
&g 8?

(A) g (B) wrefel

(C) TRt (D) T [B]

wiEt Rulé & @wror srer gu & ARt J W fiRmae
got &Y € quT Il Maw st &l g & &

SrRY i ft @ agR R Rar?
(A) feeaant Ruie (B) ek fesanRa Raié
(C) ot fge= Raté D) fee=uferg &nf Ruié  [A]
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122.

123.

124.

125.

126.

127.

128.

129.

130.

131.

132.

133.

134.

135.

ufyeht faafter o1 graeey &2

A) fe=< mgraTR @ (B) et <ht @Sl O

(C) SRFATR & (D) ¥ OTR ¥ [D]
HIS-C Ua¥E hl AuTed # fohd 919 @ ST ST 82
(A) Tdd fareR (B) QST faRar

(C) qrRHTAT (D) fRrg=eT [C]
fe=tir 28.01.2023 &l WRd ag &1 & FHEH &
= M A?

(A) Thet qaT faRTST B) @IS qUT Ithet

(C) g&Ts a1 il (P ESEGRIENS [C]
Aare yded uRuy @ graf-aq udeq o« 81 &2

(A) PeTTe (B) ATIgRI

(C) gRIR (D) H13UC 311 [D]
et (NATO) & ada= Hgrafa i &?

(A) S Wieeaat (B)F g sl

(C) SregeaT mfga (D) /AT & HigRTe [A]

R & Ul efdq dareit & fag defierror, smaea
Qe e Sfe @A & I art=gr miarder gu 82

(A) 3UTHUIE a1 (ePassport Seva)

(B) 3ggH YRd (UDYAM Bharat)

(C) THUTEUIE ¥aT (mPassport Seva)

(D) 357 f2ar (UMANG India) [C]
A d @ wRa A Suta Icuted A ST i @2

(A) oI (B) I

(C) AgRTSE (D) TSI [A]
fra st & aer - @l Hgar (Red Loamy Soil) lTrs‘
SITet 82 %
(A) STeTeR (B) TeTTats

(C) J&aR (D) g&E :
Tmmﬂq@ﬁsﬁmmaﬁmz@i%&ra{
= gt &2

(A) Jured (B) %ﬁaarr

(C) SieATeT (D) ®WMR [Cl

aﬁqﬁa—qﬂmmmﬁ;ﬁmqﬁ%"

(A) e U1 ~ (B)FrTeAH
(C) TSR (D) HBRTSE 1 [D]
A ° @ lE T@d=ar @9 ISR @ T uar?

(A) o) {88 TREs (B) fasra &g ufde

(C) Tolr AT e (D)ot Siers fagneft (D]
adar & ToTTT SieH el i 82

(A) 307 faser (B) ST &g - )
(C) Y. dt. =it (D) U9 STaRieR [B]

Tofia witeft arftor siief@e @« 2022 @ gpiaR T
Ur?

(A) 3g. (B) e=
(C) grust (D) TER [B]
G-I a GH-1I @1 Aes HifSg aur 7D RE ™ ge
T IUGNT &R Tl IAX T T4 hfSrg-
-1 ;ﬁﬁ II
31. 3fegiesh HiHe 1.
. 9.5, wat dide 2. q&
9. sft dide 3. R
g. g.dt. . fide 4. Rcdt=e
I & 9 T
A & | T 9
B) & @ ¥ T
C g F G
D) 9 @ T & [C]

136.

137.
138.
139.
140.
141.
142.

143.
144.

145.

1146.

TS TS T A1 g1 8t # 3 IeA &M T g1 a8
el R AT 8?

(A) iR (B) 99 &

(OEEEIR (D) rsgufd e [D]
faea o1 ga dvar Rar-gpst wi=ar 82

(A) I R st (B) g ol

(@RuECIGE ] (O EIESEINED [C]
T SUTHE YT ASRUT & SUAUH Fgi 3y A?
(A) ¥RAGR (B) SR

(C) SeaRR (D) &t [D]
ASTEYT ST Y TAUTYAT hel g3 ?

(A) 30 BT, 1949 B) 1438, 1949

(C) 3178, 1950 D) 1 T8, 1956 [A]
A d 9 fohg T5g o1 ST UHeg 9affdes 82
(A) TERTSE (B) IcaR TeRT

(C) ufgyet smrer (D) faeR [D]
STy H gzt rar iRy f g &2

(A) TOFR (B) S5 =t

(C) orffer gforeT (D) 3T it [D]
dieh adT et W St & foar &1 o am ur?

(A) Ig GESEIS

(C) v Sft (D) wige it [B]
oy # fRfaf@ard @ s &9 deifoan
WUSR & gl 82

(A) TeE (B) It

=(C) sdaTen (D)-SigareTr [C]
Hifacaehig TidioTell 21t oht Sch [ohd SU-ATH aq b
qREhR foam ar 82

(A) STt gAY (B) 3 Ty

(O) & gt @ (D) faifga [B]
YUST Ydd ohl $+aI-4 JISIEYTH & fohe it & 87

(A) IoTHG (B) areft

(C) STTeiR (D)t [C]
foha o Ay meier A fFe e TRg 82

16 feeetl e SIFRY; S1enTe iR

% et Romat anfear, AR at saaaRil

147,

148.

149.

(A) TG &1 fhel, SteR (B) fohett SRS, SHerR
(C) grTe T fohedT, WIRAGR (D) ROTIFR o fhelm  [B]

AHI | WX o fdsreh Qd HeTaa@raiares (FFugier
11 guseiTiEer Sreeer) @i 27

(A) TSfid AR (B) 31T M

(C) rsha e (D) frdter ==z 73, [D]

A d @ A9 & &1 TRy | faeg 1 JaR,

1956 <hl ga1T?

NEIGIEIE (B) TR

(C) SToTHR (D) = [C]

A 7 @ Q9T =T S & s arR w4t hY diar @

e 82

(A) |aT8 ATIYR (B) SigarsT

(C) TH¥g (D) audiTe [c

150.

g g # sizuF-RelaRr fu-ugg & 21 994 72
3T Aut 1 AR foheeh A1 uR fohar mam 82
(A) AT Gt (B) ¥Rd ¥A fastar
(OuwmaRTwfastar (D) e faqmur fastar  [C]
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